LESSON 9  INTEGRATION BY TRIGONOMETRIC SUBSTITUTION
If the integrand of an integral contains an expression of the form 
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If the integrand of an integral contains an expression of the form 
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Now, that we have all the antiderivatives of the integrand 
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Now, that we have all the antiderivatives of the integrand 
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We want to rewrite the integral before we use the technique of Trigonometric Substitution.
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This integral can be evaluated by simple substitution which is FASTER than trigonometric substitution.
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If you missed the simple substitution and proceeded with the technique of Trigonometric Substitution, then your work would have been the following (and the following, and the following.)
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If you evaluate the integral using the technique of Trigonometric Substitution, then your work would have been the following.
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Example  If  a is a positive real number,  b  is any real number,  m is a rational number, and n is an odd integer, then determine the trigonometric integral for the integral 
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For example, in our Example 2 above, we had the integral  
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Example  If  a is a positive real number,  b  is any real number,  m is a rational number, and n is an integer, then determine the trigonometric integral for the integral 
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For example, in our Example 1 above, we had the integral  
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Example  If  a is a positive real number,  b  is any real number,  m is a rational number, and n is an odd integer, then determine the trigonometric integral for the integral 
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For example, in our Example 8 above, we had the integral  
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